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C B A 

'A' - 

(10) (i)

10×2=20 2 (ii)

(Multiplicative Inverse) (sin , cos ) .1

(x2 + y2) (a + ib)2 = (x + iy) .2

Z1 – Z2 Z2 = (6, 3) Z1 = (2, –1) .3

x = cis  .4

c b a .5

2 1 .6

.7

1Turn Over

Regd.
No.

Total No. of Questions - 37
Total No. of Printed Pages -4 

Part - III

MATHEMATICS - IIA
(Urdu Version)

MODEL QUESTION PAPER
(For the Academic Year 2021-22 Only)

SET - 



.8

3 4 5 .9

(Polygon) 12 .10

n nP3 = 1320 .11

7 .12

(Mean Deviation) .13

6, 7, 10, 12, 13, 4, 12, 16

0.1 (Left Handed) .14

(Left Handed) 10

P(x = 5) P(x = 1) = P(x = 2) .15

'B' -

(5) (i)

5×4=20 4 (ii)

y x y x .16

.17

2  1 .18

(2– ) (2– 2) (2– 10) (2– 11) = 49

(Range) .19

(G.P) .20

2



(Sum) 4 {1, 2, 4, 5, 6} .21

.22

(Partial Fraction) .23

.24

.25

P(A B) = 0.3 P(B) = 0.4 P(A) = 0.5 B A .26

B A (ii) A (i)

(Multiplication Therorem) .27

'C' -

(5) (i)

5×7=35 7 (ii)

.28

(  < ) c c b a .29

(Same Sings) 'a' 

x >  x <  

.30

2 .31

3



PRISON .32

(Rank) PRISON 

y = 3 x = 8 (Greater Term) (3x – 4y)14 .33

5 5 15 .34

(i

(ii

(iii

(Independent Events) C B A .35

P(C) P(B) P(A)

P(X = –2) = P(X = –1) = P(X = 2) = P(X = 1) = X .36

(Variance) (Mean) X

2 .37

5

_______________
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